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Answer either in English or in Assamese.
Part-1I
1. Answer the following questions as directed :
1x5=5
weTs AR RotiqEd Sy B e

(a) cin is an object. (State True or False)
cin @Bt object. (9% 1 9% &20)
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(b) In C++, all functions must be declared
before they are used.
(State True or False)

C++ 9, (T function I F[KE SIS
declare ¥Rq =it | (3% 7 w7 fa3))

(c) Friend functions are member functions

of a class. (State True or False)
Friend function @R class-¥ member
function ¥ | (&% @ 9% fo73)
(d) _______is an example of compile time
polymorphism. (Fill in the blank)
«q6l  compile time

polymorphism I %34 |
(3T 312 239 F9)
(e) The" operator  allocates
memory. (Fill in the blank)
{3694 memory allocate I |
(T A2 779 7)
2. Define the following : 2x4=8

oot AR viget &2
(a) Abstraction
(b) Polymorphism
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(c) Inheritance

(d) Reference variable.

3. Answer any three of the following
questions : 5x3=15

ooTe Tl SIS fara fofh1T ©es forat ¢

(a) State any five differences between
C and C++.

C & C++ 3 R «isbt «iiefeg &t

(p) What is Constructor ? What are the
characteristics of constructor ?

Constructor ¢ 239 &R ot

(c0 What is Inline function? Describe
briefly with an example.

Inline function &2 S CC® Y i
Ealll

(d) What is operator overloading ? Give a
suitable example.

Operator overloading &2 vz ot
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(e) Write in brief about run time
polymorphism. :

Runtime polymorphism-3 @ otz
ferat

4. Answer any two of the following questions : .
10x2=20
were Al ANRIRT Rt ghre ©es fordi 8

(a) What is function overioading ? List the
rules used for overloading function
names.

Function overloading &? Function
overloading ¥ fNaw@iT f&at

(b) Define a class to represent complex
numbers. Overload the + operator to
add two complex numbers.

Complex I J&HteT «ot class w1 701
complex Y (@ IR +operator
overload ¥¥4i|

(c) Ilustrate the effect of inheritance on
the visibility of members of a class.

Inheritance-9 class ¥ b I[GIRE
visibility 9 2feiq 3fqt 31|
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(d) Define a class String. Use overloaded
== operator to compare two strings.

String AW @Bt class define I !
string el I(RACT = = operator overload
el

Part-1I

5. Fill in the blanks: 1x3=3
AT 3% 57 = 8

(a) TCP stands for

TCP3 Mg ol = |
(b) FTP stands for

FTP3 g T4 =& |
() URL stands for

URLI e R |

6. Define the following: 2x3=6
oo AR ke fodt e
(a) Modulation and Demodulation
(b) Telnet
() HTML
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7. Answer any three of the following
question : 5x3=15

Ricprean oo et Bex forat ¢
(@) What is network topology ? What are

the different types of network
topology ? .

Network topology & ¢ 23R RS v
e ;

(b) Write the  differences  between
connection oriented and connection
less services.

Connection oriented Sl Connection

less CRIT AR |

(c) Write the merits and demerits of
wireless transmission media.

SRR ~RIR Mg @4 s @RER BT |

(d) What are the functions of data link
layer ?

Data link layer ¥ IS &2

(e) Explain how does distance vector
algorithm work.

Distance vector algorithm (IS
IR 3T 71|
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8. Briefly explain the works of Physical layer
and Transport layer. 8

Physical layer W% Transport layer ¥ PG I
Ea !

Or/ o4l

Write short notes on Electronics mail and
- HTTP. 8

Electronic mail S HTTP 3 5% 3! faat|
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